Mount a sideLED 124D lightbox
781 ++++ ++++ D3X
W beMatrix




Mount a sideLED Available profile connectors
How to... 124D lightbox

781 ++++ ++++ D3X

781 000 TG/R LIGHTSCREEN 124D 90° CORNER PIECE SET TG/RAL

* 4 pcsrequired for a 124D lightbox frame

781 001 LIGHTSCREEN 124D 180° CONNECTION PIECE

W beMatrix



Mount a sideLED Available support sets
How to... 124D lightbox

781 ++++ ++++ D3X

801 ++++ SET LIGHTSCREEN 124D SUPPORT SET VERTICAL

i 801 ++++ ++++ SET LIGHTSCREEN 124D SUPPORT SET CROSS

W beMatrix



Mount a sideLED Available electrical components
How to... 124D lightbox

781 ++++ ++++ D3X

- 1. 2700006 SET 124D POWERLED SIDE MODULE [0473MM] [24W 6500K] [INCL CONN.]

D) 2. 2501106 124D POWER CABLE [3M] EU

3. 2501107 124D POWER CABLE [3M] UK

r . 4. 2501108 124D POWER CABLE [3M] USA

W beMatrix



How to...

200W

5.

Only for the US market

250W

Mount a sideLED

124D lightbox

781 ++++ ++++ D3X

Available electrical components

270 12 20 SET 124D POWERLED POWER SUPPLY 200W - USA [INCL. CONNECTORS]

270 12 25 SET 124D POWERLED POWER SUPPLY 250W [INCL. CONNECTORS]

27012 02 124D POWERLED EXTENSION CABLE [0.5M]

27012 03 124D POWERLED EXTENSION CABLE [1.5M]

W beMatrix



Mount a sideLED Overview
HOWHO= 124D lightbox

781 ++++ ++++ D3X

Width lightbox

A
v

Length 124D profile = width lightbox — 124mm

r ,, *1 3
A
€
£
<
(oY
-
I
x —
gl E
5 3
P £
| 3
2 2
t ] | £
Length support tube = (width lightbox/2) — 68mm % =
oo
2| ¢
Length support tube = height lightbox — 68mm » g
=
W0
c
9
v
L A J v

W beMatrix



Overview

Mount a sideLED
How to... 124D lightbox

781 ++++ ++++ D3X

Fully built-in

Stand-alone Built-in wall
M 2M 2M
gl »
al L
Every 2m, a support profile is needed both Every 2m, a support profile is vertically needed. When the lightbox is fully integrated in a firm construction, a support
A horizontal support profile is not necessary. profile is not necessary

vertical and horizontal

W beMatrix



Mount a sideLED How to mount the lightbox into existing beMatrix products.

How to... 124D lightbox

781 ++++ ++++ D3X

B62 frame Pins, baseplates $Q62, ledskin beConstruct/DD/pop-out

17171250861

/V (DIN 125 - 8,4)
) 17179843581
V (DIN 7984 M8x35)

N
l

A\ 4 :
901 2059 M8 17179 84 60 69 " 17171250861 " 17179843581 710300218
901 2048 0066 E (DIN 7984 M8x16) (DIN 125 -8,4) (DIN 7984 M8x35)
Or Oor Or

~

_
l‘ —>» 9012059 M8 SMALL |

1718905 08 265 17179120829 171791208 29 w beMatrlX

(Nylon set screw M8x26,5) (Manual M8x29) (Manual M8x29)




Mount a sideLED Mounting the lightbox
How to... 124D lightbox «  Mounting the profiles

781 ++++ ++++ D3X

90° 2 1

|

Insert the ledstrip before mounting the 171 89 05 08 30 First hole

corner to the profile with a manual screw or

180° 171 89 05 08 265 2 1 1 2

W beMatrix

Second hole



Mounting the lightbox

Mount a sideLED
How to... 124D lightbox

*  Mounting the electrical parts to the profile

781 ++++ ++++ D3X

Ledstrips

L -

1 profile

> 2 profiles

-

,I 781010 |

Use 2 ledstrip connectors to connect the
ledstrip to the profile.

Only 1 is needed for the ledstrips on the

sides of the profile as they are also
connected with a manual M8x30 screw .

W beMatrix




Mount a sideLED Mounting the lightbox
How to... 124D lightbox

781 ++++ ++++ D3X

Power supply

Mounting the electrical parts to the profile

17179 8408 59
(DIN 7984 M5x8)

17208 00 08 05
(M5 T-nut)

cables

W beMatrix



Mount a sideLED Mounting the lightbox
124D lightbox

* Mounting the support tubes
781 ++++ ++++ D3X

781011

A

781012

) WhoeMatrix

Do these next steps for the 2 horizontal tubes



Mount a sideLED Mounting the lightbox
124D lightbox

* Mounting the support tubes
781 ++++ ++++ D3X

Hanging lightbox

17179911659
(DIN 7991 - M5X16)

17208 00 08 05
(M5 T-nut)

W beMatrix

Do these next steps for a hanging lightbox This next step is recommended for big lightboxes



Mount a sideLED
How to... 124D lightbox

781 ++++ ++++ D3X

EU/UK

Electrical circuit
Use 1 POWERLED side module per 0.5m
* EU/UK: max 10 POWERLED side module per powersupply (250W)
e USA: max 6 POWERLED side module per powersupply (200W)

Safety warning: don’t let the electrical contacts be in touch with the Alu frame

270 00 06 124D POWERLED SIDE MODULE [0473MM] [24W 6500K]

1

2

3

4 5

oo ooooooOesDooooo00e 000000 0e{0 0000000~ c{d00odooaaro

oo oOooOOooOoOesD0o00o0e o000 ooOe{0 0000000+~ c{d 00 odooaaro

6

7

270 12 25 124D POWERLED POWER SUPPLY 250W

\4

250 11 06 124D POWER CABLE [3M] EU
or
250 11 07 124D POWER CABLE [3M] UK

8

N

S

M

9 10

The overal connection is non-binary
which means there is no direction in
how you connect the ledstrips with
the power supply.

W beMatrix



Mount a sideLED Electrical circuit
How to... 124D lightbox Use 1 POWERLED side module per 0.5m

* EU/UK: max 10 POWERLED side module per powersupply (250W)
e USA: max 6 POWERLED side module per powersupply (200W)

781 ++++ ++++ D3X

Safety warning: don’t let the electrical contacts be in touch with the Alu frame

USA

270 00 06 124D POWERLED SIDE MODULE [0473MM] [24W 6500K]

1 2 3

oo oooooooes{Doooooo00e {0 000000 ge

FooDoOooOOooOoOes{Doo0o0o00e {0 000000 ge

4 5 6

270 12 20 124D POWERLED POWER SUPPLY 200W

\4
250 11 08 124D POWER CABLE [3M] USA |

W beMatrix



Mount a sideLED
How to...

124D lightbox

781 ++++ ++++ D3X

781 2852 DOD
LIGHTSCREEN 124D [2852MM] HOLES DOO - PRECUT 90490

701202 *
124D POWERLED EXTENSION CABLE [0,5M]
1PCS

201203
1740 POWERLED EXTENSION CABLE [1,5M]
2pCs

27012 25 56T F
124D POWERLED POWER SUPPLY 250W [INCL. CONN.]
1PCS

2501106
1240 FOWER CABLE [3t] EU
1PCs

1000
LIGHTSCREEN 124D 90° CORNER PIECE SET
4PCS

601 1172 2908 SET

LIGHTSCREEN 124D SUPPORT SET CROSS [FRAME 248002976MM]
1FCS

781 2356 DX

LIGHTSCREEN 1240 [2852MM] HOLES DXX - PRECUT 90/%0

2PCS

270 00 06 SET ¢
124D POWERLED SIDE MODULE [0473MM] [24W 6500K] [INCL. CONN.]
10PCS

* INCLUDED IN THE 124D SIDELED LIGHTING SET EU (270 22 10 EU)

Example + target audience

This user manual aims to provide all users of the product of all relevant
information that contributes to guaranteeing a safe way of working and to
maintain the product’s condition.

This user manual applies in all circumstances where any kind of handling of or
with the product is involved, including: transport, assembly, installation, storing,
using the product, maintenance, disassembly, decommissioning and disposal of
the product.

The target audience can be described as follows:

. Transporters

. Installers, assemblers

. Operators

. Maintenance technicians

. People charged with the final decomissioning and disposal of the product

The above mentioned persons with their specific tasks have to have sufficiently
demonstrable knowledge and/or experience. The product can only be used by
or under supervision of an authorised person. The operator has to be minimum

18 years of age. P
W beMatrix



	Dia 1: How to...
	Dia 2: How to…
	Dia 3: How to…
	Dia 4: How to…
	Dia 5: How to…
	Dia 6: How to…
	Dia 7: How to…
	Dia 8: How to…
	Dia 9: How to…
	Dia 10: How to…
	Dia 11: How to…
	Dia 12: How to…
	Dia 13: How to…
	Dia 14: How to…
	Dia 15: How to…
	Dia 16: How to…

